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0014 P R 1,704 | 2,145 | 2,196 | 4,341 1 0 -2 -2
omE A — H 368 446 449 895 | . 4os 2 3 2 5
o122 & % 181 254 276 530 | -1 -2 1 -1
021iR Zf 352 443 412 855 0 0 0 0
031/ wE 121 155 168 323 0 0 -1 -1
032/% 1 — Ep[ 816 | 1,076 | 1,108 | 2,184 4811 7 9 9 18
0338 1 — ¥ 970 | 1,287 | 1,340 | 2,627 | -1 0 -4 -4
034 HT i wEl 277 351 375 126 | s 1 4 1 5
153|193 T HEN#ED)| 309 378 411 789 | -3 -3 0 -3
041| K mr 113 133 129 262 509 0 0 0 0
152/ 2T H(KET) 103 116 131 247 1 3 1 4
042 fii 133 155 165 320 0 0 0 0
051 |fif m7l 388 432 457 889 | 381 1 3 0 3
150t %1 T B (fhET)[ 220 251 241 492 | 1 1 0 1
053 i BTl 196 234 239 473 549 -1 -2 0 -2
151\t %1 T H (3 HT) 28 41 35 76 0 0 0 0
054 ik i 92 128 130 258 0 0 -1 -1
o61& H — | 116 163 155 318 1076 0 0 0 0
062 % H . Bl 325 383 375 758 | 4 1 5 6
071 7f Al 100 118 113 231 0 1 1 2
072 |k Ml 126 120 117 237 0 0 0 0
07374 = 72 97 82 179 -1 -1 -1 -2
081 LbLMNLE1TH 274 384 395 779 1 0 -1 -1
082/L5MnLE2T H 280 370 363 733 -1 -2 -2 -4
083 L5 LE3TH 248 343 318 661 3586 -1 -2 0 -2
084 L5/ LHE4T H 263 348 341 689 | 0 0 0 0
085/L 5 LES5T H 291 367 354 721 0 1 0 1
086/L 5L HE6T H 1 1 2 3 0 0 0 0
101\t 1 T H 344 431 448 879 1 -2 0 -2
102|4b 2 T H 365 455 474 929 | 2,736 0 1 2 3
1031t 3 T H 327 463 465 928 0 2 2 4
112/% b 2 T H 325 423 411 834 1 -2 0 -2
118|% b 3 T H 442 565 599 | 1,164 | 3,053 1 -2 0 -2
114/% 11 4 T H 387 503 552 | 1,055 -2 -1 -1 -2
1215 £ H 1 1 H 233 282 322 604 1 0 0 0
1225 £ 2 T H 336 430 462 892 | 2,444 0 0 -1 -1
1235 ¥ £ 3 T H 343 475 473 948 3 1 1 2
1318 A 11 H 290 441 462 903 0 -1 0 -1
1328 & 2 T H 250 380 404 784 3791 1 0 1 1
1338 4+ & 3 T H 321 465 523 988 | 0 0 -3 -3
1348 i+ £ 4 T H 399 537 579 | 1,116 1 -1 -1 -2
14158 D T 195 295 285 580 1 0 0 0
1712 b 1 T H 365 575 640 | 1,215 1814 1 0 0 0
172/% |1 2 T H 179 313 286 599 ’ 0 0 0 0

g 13,568 | 17,752 | 18,262 | 36,014 19 9 8 17




